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PRINCIPLES OF ECONOMICS–II

Paper–206

Semester–II

Time Allowed : 3 Hours] [Maximum Marks : 70

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

10 marks each and the entire Section C

consisting of 10 short answer type questions

carrying 3 marks each.

SECTION—A

1. Explain the Keynesian theory of Income, Output

and Employment determination. 10

2. What is National Income? Discuss the problems of

measurement of National Income particularly in

UDCs. 10

3. Critically state and explain the Say’s Law of

Market. 10

4. Explain the different concepts of National

Income. 10

SECTION—B

5. Explain the Operation of Dynamic Multiplier.    10

6. Discuss the objective and subjective factors affecting

Consumption Function. 10

7. Explain the meaning and phases of Trade

cycles. 10

8. What do you mean by Inflation? Discuss the causes

and control of Inflation. 10
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SECTION—C

9. Attempt any ten short notes on the

following : 10×3=30

(i) Write the importance of Macroeconomics.

(ii) What are the assumptions of Classical

theory of Employment?

(iii) What do you mean by Flexibility of

Prices ?

(iv) Define the Demand Pull Inflation.

(v) Define the Stagflation.

(vi) Explain backward working of Multiplier.

(vii) Write the relationship between MPS and

MPC.

(viii) Define prospective Yield and Supply Price.

(ix) Write the relationship between MPC and

Multiplier.

(x) What are the precautions required for

measurement of Product Method?

(xi) Define the Transfer Payments.

(xii) Write leakages of Multiplier.
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PUNJABI VERSION

notnotnotnotnot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy hryk

pRSn dy 10 AMk hn[ Bwg C swrw kro[ ies ivc

10 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk

pRSn dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. Awmdn aupj Aqy rozgwr inrDwrn dy kInzIAn

isDWq dI crcw kro[ 10

2. rwStrI Awmdn kI huMdI hY? G`t ivkisq dySW dy

ivSys hvwly nwl, rwStrI Awmdn mwpx dIAw

sm`isAwvW ivcwro[ 10

3. mwrkIt sbMDI syA (Say) dy nym dI Awlocnwqmk

prK kro[ 10

4. rwStrI Awmdn dy iviBMn sMklp ivcwro[ 10

BwgBwgBwgBwgBwg—B

5. gqISIl guxk dI ikirAw dI crcw kro[ 10

6. Kpq kwrj nUM pRBwivq krn vwly inrp`K Aqy in`jI

p`KW dw aulyK kro[ 10

7. vxj c`krW dy ArQ Aqy pVwvW bwry jwxkwrI

idE[ 10

8. mudrw-sPIqI (ivsqwr) qoN kI Bwv hY? mudrw-

sPIqI dy kwrnW Aqy ies au~qy inXMqrx bwry crcw

kro[ 10

BwgBwgBwgBwgBwg—C

9. hyT ilKy iv`coN koeI 10 'qy sMKyp not ilKo:   10×3=30

(i) smStI ArQ-Swsqr dy mh`qv nUM drj kro[

(ii) rozgwr dy snwqnI isDWq dIAW pUrv-DwrxwvW

kI hn?

(iii) kImqW dI l`ckqw qoN kI Bwv hY?

(iv) mMg dI iK`c nwl hox vwlI mudrw-sPIqI nUM

pirBwiSq kro[

(v) stYgPlySn nUM pirBwiSq kro[
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(vi) guxk dI ipCokVI ikirAw bwry crcw kro[

(vii) MPS Aqy MPC ivcly sbMDW nUM ivcwro[

(viii) hox vwlI aupj Aqy pUrqI kImq nUM pirBwiSq

kro[

(ix) MPC Aqy guxk ivclw sbMD drj kro[

(x) auqpwd ivDI dI pYmwieS kridAW loVIN dIAW

swvDwnIAW ivcwro[

(xi) qbwdlw AdwiegIAW nUM pirBwiSq kro[

(xii) guxk dIAw lIkyijz bwry crcw kro[
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